ON 2010
Croup- A
: {(Multiple Choice Type Question)
1. Choose the correct alternatives for any fen of the loSiowing:
i) In which of the fdllowing base systems is 789 a valid number?
a)Base 5 v'b) Base 16 c) Base 8 d) Base 3

ii) Storage of 1 kB means the what number of bytes?
a) 1000 b} 964 v¢) 1024 d) 1064

i) Pick out the correct stalement:
¥'a) in a positional number system, each symbol represents the same vaiue imespective of its

position.
b) The highest symbaol in a position number system is a yalue egual 10 the number of
symbois in the system. e{ '
c) Rtis not always possible to find the exact binary,

d) Eadthexadecivﬁldgilmnbereprmm@ ence of three binary symbols.
iv) The binary code of (21.125)c 5 Qa

¥'a) 10101.001 b) 10100.001 c) 10101.010 d) 10100.111
v) Race condition is avoided by |

a) J-K fiip-fiop b) S-R fip-flop

v¥'¢) master-slave fip-fiop d) none of these

i) Which one is sequential circuit? .
a) multiplexer b) decoder c) priority encoder ¥"d) counter
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e s A - 'd.];fA.—n
aQ) A+AB=A+B Vb)) A+I=4 ©) A+A=A

—)Decma!d:gnswnhemnvened o binary Sode using

DeMux
v'a) Decoder b) Encoder c) Mux 4
ix) Canty of a full adderis a o | ]
g e b) self dual function
¢) non-symmetric function d) none of these
x) Every flip-flop is defined by 23 i |
a) characteristic equation b) excitation table ~ ¥’c)both of these  d) none of thme
j ¥i) Immediate AccesSs Storage Device is the name of
¥ a) primary memory b) secondary memory
c) hard disk _ d) pen drive '
xi1) Contro! unit does not process data. .
a) False ¥'b) True c) Unpredictable d) None of these
Xiii) I!mereareihteemubmen lnemmmerohnpmmmbmnons will be
a) four ¥'b) eight c) six dj two
xiv) Hexadecimal equivalent of (26.25); is
va) A6.4 ~ b)1A4 | c)FA4 d) 1A25
- Group-B
(St:ort Answer Type Questmnsl

; - 2. implement XOR opesaﬂm using four 2-input NAND gates. Verify the outpu. for drﬁerent
:combinations of inputs.
K Sce'l‘op:r LOGIC GATES, Short Answer Type Question Ne. 5.

3. Write down the BCD code of (3612),0. Add two numbers (5952],:, and {1589), uszng BCD cades
and oblain the resuif also in BCD.
See Topic: CODES, Shart Answer Type Question No. 3.

4. a) Find out the dual and the complement of ihe following Boolean hmchon
F = ABC+ABC ¥ ABC + ABC -

b) Simpiify the fofiowing Booican expression: (X +F)( ¥ +¥ +Z)(X +y +Z)

to ménimam number of Fterals using algsbraic method.

See ’l'aptc: BOO!..A’\' AI.GEBR.—\ Shert Answer Type Queshnn No. 5.

5.a) Pm'.ematmenumq}!exensamwersallogac module.
b} Use 4-to-1 MUX and othier necsssaiy logic gate to design a fu!l—subtractor
- S Tap!t- CO\IBI‘.\ !ﬂ'i{NAL CIRCUIT, Short Answer Type Qutshon hn. 3 & 4.
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6. a) ¥hal is the advantage of K flip-fiop over SR flip-flop?

by Write the Maxtenm form of the following function: F = XY+ X7
a} See Topic: FLIP-FLOP, Short Answer Tyvpe Question No. 4.

b) See Topic: KARNAUGH M AP, Short Answer Type Question No. 7.

Group-C
{Long Answer Type Questions)
7. ) Draw the truth table for a three input adder. Explamc{eaﬂythemeamngofﬂtemnmaﬂdﬂ‘e

outp.it symbols in the truth table. Wiile the Boolean expressions for the sum and camy.
b) Use a Kamaugh map 1o find the minimum sum of products for the expression:
X=ABC+ABC+A'BC+ABC
c) Sinpfily the following expréssions using Boolean algebra:
) AB+A(B+C)+ B(B+C) i) A'BC+B'CD+AC+A BCD’
a) See Tapm ARITHMETIC CIRCUIT, Short Answer Type Question No. 3.

b) See Topic: KARNAUGH MAP Short Answer Type Question No. 8.
<) See Topic: BOOLEAN ALGEBRA, Short Answer Type Question No. 6.

" 8. a) State the main differences between seguential and combinational circuits.

b) Draw the truth table and logic circuit of a Full Subtractor. Using Kamaugh map find out the
expression for difierence (D) and bomow (B). -

c) implement the Boolean funcion F=(A,B,C,Dj= Z(o 1.3,4.8,9,15) using 8xI mlﬂl'p!exer

with A, B and D connecled to select lines s,, s,. 5, respectively.

a) See Topic: COMBINATIONAL CIRCUIT Short Answer Trpe Question No. 5.
b) See Topic: ARITHMATIC CIRCUIT Short Answer Type Question No. 4.

¢} See Topic: COMBINATIONAL CIRCUIT, Long Answer Type Question No. 10

9. a) Define fip-flop and its propagation delay. |
b) Using the legic diagram convert a J-K fiip-flop to a D {iip-fiop and T fiip-flop.

c) Design a J-K master-siave flip-flop with circuit diagram and give the truth table.
See Topic: FLIP-FLOP, Long Answer Type Question No. 12.

10. a) What is the usefulness of excitation table of the fiip-flop?
b)med»bnshlftregtstertsmmaﬁsedtoom Aﬂerhowmanyclwkptﬂsessmereglsterre-

initialised to same va.lue"

"B QI

4 BIT SHIFT REGISTER
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¢) Determine the modulus of the following counter.

b O 3 Q J Q
1 K (o)
Cl | Cik | Cik

a) See Topic: FLIP-FLOP, Short Answer Type Question No. I .
b} & ¢} See Topie: RESISTER & COUNTER. Long Answer Type Question No. 8.

11. a) Wriie short noles on any three of e following: :
~ a) Decoder A »
b) Shift register ' ‘G x
c} PROM :
d) Priority Checker
~e) Ring courier.
a) See Topic: COMBINATIONAL CIRCUTY., Long Answer Type Question Ne. 14(£).
b) See Topic: RESISTER & COUNTER, Long Answer Type Guestion No. 18(a).
©) See Topic: MEMORY DEVICE. Long Answer Type Question No. Ha).
dj See Topic: COMBINATIONAL CIRCUFT, Long Answer Type Question No. 14c).
¢) See Topic: RESISTER & COUNTER, Long Answer Type Question No. 1B}
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